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DFGT-T-HTM

| (1729 + 1929 ¥ 18 A fawifom fem s 2, |4,
al SNE w1 A R 2
(a) 6
by 2
ey 1
(dy 0
n ¥ 98 R % oA 0 & 5 R e | B
AR 10" 8 fnnfie @ g
25:»(335-(48:(53)(67:-:76::812){99::
105 x 1512 x 201 x 2211 2515 9
(a} 65
(b) 55
(e) 50
(d) 45
6.
HET 479865AB # R W (A, B) TvE # a2
memogu g A s R gan 2 %
g &1 =g o faem 2 0
(ay b
(by 6
(e 9
d) 11
(2-A)

ZMEd Hhd Ygla o TUEedH
999 x abe = def132 T faem Hifsw, 78l a, b, c,
d,e&ﬂ?f&iﬂigla,b,c.d.eaﬂtf%ﬂﬂ
e a8 ?

(a}) 6,6,8,6,8,7
(b) B8,6,8,6,7,8
(c) 6,887,886

(dy B8,6,B8,8,6,7

#7 mfgat A, B 3k ¢ ™ wmfxg 7w
5p.m.,6p.m.3ﬁ'{7p.m,mmmm
& 3 A 60 kmvhr, 80 km/hr 3 x kmvhr
# tHanH nfa ¥ uw # e 3 e el #
af arn & dm aft @1 0 oy wum-fasg W
o oy foedft &, W@ xFm AR FIR 7

(a) 120
(hy 110
(c) 105
d) 100

frn 1 omg ww 94 ure 1 @ fa e s
&1 o (w@) f i 9r 9 A feedt quits =
i 3 | 3 foradl 3 a6 o S SifEe @ife
Igeht g qdadl ad § frd dem =1 @i Ik
Iadl ad & fRdt @@ w1 WA (FE) ]
| ?

(a) 79

by 12 a9

(¢ 14 ad

(d) 219
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1. What is the remainder when (1749 4+ 19%%) js|4.
divided by 18 ?
(a) 6
(by 2
(cl 1
d» O
2.  What is the largest value of n such that 10%|g,
divides the preduct
22x 3 x 48 x 53 x 67 x 1O x 812 x 99 x
105 x 1512 x 2014 x 2211 x 2515 7
(ay 65
(by 55
te) B0
(dy 45
3. How many pairs (A, B) are possible in the |6.
number 479865AB if the number is divisible
by 9 and it is given that the last digit of the
number is odd ?
ta) b
by 6
c) 9
dy 11
DFGT-T-HTM (3-A)

Consider the multiplication 999 x abe = def132
in decimal notation, where a, b, ¢, d, ¢ and [
are digits. What are the values of a, b, ¢, d, e

and f respectively ?
(a) 6,6,8,6,8,7
(by 8,6,8,6,7,8
ey 6,8,87,8,6

(d) 8,6,88,6,7

Three cars A, B and C started from a point at
5 pm., 6 pm. and 7 p.m. respectively and
travelled at uniform speeds of 60 km/hr,
B0 km/hr and x km/hr respectively in the same
direction. If all the three met at another point
at the same instant during their journey, then

what is the value of x ?

{a) 120
(b) 110
(c) 105
(dy 100

Priya's age was cube of an integral number
(different from 1) four years ago and square of
an integral number after four vears. How long
should she wait so that her age becomes
square of a number in the previous year and
cube of a number in the next year ?

(a) 7 years

(b) 12 years

(c) 14 years

(d) 21 years
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DFGT-T-HTM

ﬁﬁ%ﬁﬂﬁﬂﬁ-ﬂlm%wﬁi* 10.
(@) 28 ) A Iy FENA T AW 2 A
faursr 2
(b) @ fr quitel m, n 3 UF T wEA p
%m‘ﬂﬁpﬂmmxniﬁﬁﬂﬁﬁ
H@ R, 9@ p A @ m H A o w fawfam
w2 |
) AR THEEE 6n-1F T AR (n &
Ul wE R), 99 YR UH IWISE HEA
21
(d) I T gl w1 Fad @ @ W
Tgag ¢ Pl @ Freeead s
Tl H 2 T R | "
x:ﬂé‘fi%lmx»,";ﬂm:ﬁaumm%?
(ay 1
(by 2
{c) 2-;-
(d) Faifa 38 e s g
l+px jl-qgx _ -
afe o ’m_1i.mx%wﬁ
w1 E?
@ t31 2p_q,2p:q
p 12.
(b) ii,lp-q,p:q
(e} tﬁ,,’p—q,p:q
(d) :I:%J2p—q,2p=tq
(4-A)

H gEEE § gfa wwa fEm |4 200 & 3
% ¥ ) 3l eEEw § wad A Gen §of
20% # ghg H I ® o EE ¥ wo
wW R, 7@ FW FEA A Ho gww # e
sfaed ggenma g3 2

{a) 30%

(by 40%

(e} 44%

(d) 48%

T iR F ggE # 3 o @ faaew ° godt
£ | fauem 9= & foe A & anfra = w@m
Fft & ) owm H 1fd 8 kevhr 2 TERE B A
w10 kavhr & | Frene ¥ & fore g aw
Ao fmew=nadt & | oan ot 3w & 5o @
e fFen g 2 2

(a) S5km
(b} 55km
tc) 6km
(d) 6:5km

gensit w1 Aafafes § @ F.w gm, afism
3542, 3 X _J0FTETA L ?

(a) 0,2
h 0,-2
¢ 1,-1
(d) 1,2
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7.  Which of the following statements is not|10-
true ?
(a) The difference of two prime numbers,
both greater than 2, is divisible by 2.
(b)  For two different integers m, n and a
prime number p, if p divides the product
m x n, then p divides either m or n.
(¢c) If a number is of the form 6n-1
(n being a natural number), then it is a
prime number,
(d) There is-only one set of three prime
numbers such that there is a gap of 2
between two adjacent prime numbers, 11
8. For x > 0, what is the minimum value of
X+ x+2 ?
2x
{a) 1
by 2 ’
1
{c) 2—
2
(d} Cannol be determined
l+px [1-gx
9. If —— [——= = 1, then what are the
l-px \1+qgx
non-zero solutions of x ?
(a) tlsz_q,:zpaeq 12.
p q
1
(by +—\p-q.p=q
Pq
(@ ¢ EJp-q P*q
q ) 1)
dy *=-=22p-q,2p=q
P
DFGT-T-HTM (5-A)

In a hostel the rent per room is increased by
20%. If number of rooms in the hostel is also
increased by 20% and the hostel is always full,
then what is the percentage change in the
total collection at the cash counter ?

fa) 30%
b}  40%
(e} 44%
d) 48%

Radha and Hema are neighbours and study in
the same school. Both of them use bicycles to
go to the school. Radha's speed is 8 km/hr
whereas Hema’s speed is 10 kmvhr. Hema
takes 9 minutes less than Radha to reach the
school, How far is the school from the locality

of Radha and Hema ?

{a) 5km
tbY 5565km
(¢} 6km
d) 6-5km

Which of the following pair of numbers is the

solution of the equation 3**2+ 3% =10 ?

(a) 0,2
(b 0,-2
e} 1,-1
d)y 1,2
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13. 7% fear gan & 7 log), 2 = 0-301AW
logyo 3 = 0-4778 | (108)1° Y fape ot & 2
(a) 19
(b) 20
© 21
) 22
14. &9 1wy SEaredl %1 Iee 100 ® | 3fd @R
d = freht Zult wem @ 36 Afuw &, @ W
wEmist § 4 s ge R
(a) 17 16.
(b) 29
{c) 43
(d) 399w 4 | *§ 7
. 1.
185. aﬁa,bmcmtﬁmwmiﬁal
11 =16 3 a3 a4 b3 c T W
a+hI 1— 23
oy
C+
2
e
(a) 1 18.
b 2
(c) 1-33
(d) 2-33
DFGT-T-HTM (6-A)

ara #= (03) wyATwt & e Profarfae o feam
i ;

1,00,000 SHaEA At fadfl wiee § @19 woR

F AT (L, N D e € | [mam A w
WHER-TEH 9G9I A1 1 Sfaea 9 wER R

AR -7 TISH! FT AHFIT

I 10%

11 30%

11 5%

aFi 13l 8%

2 11 3R 1 4%
2t 13 m 2%

woft &=t (1, 1 3R 1) 1%

Fa6 U GHTER-GS e I wri o HEEl a4
22

(a) 20,000
(b 25,000
(¢) 30,000
(d) 35,000

FHA-FH QN GIER-A B 9gA A A 6
T F R ?

(a) 12,000
(b) 13,000
(c) 14,000
(d) 15,000

3 drit & g 7 A W A gEEnaE §
|/ F fi TuERA 777 wga € 2

(a) 62,000

(b} 64,000

{c} 66,000

d) 68,000
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13. It is given that log,, 2 = 0-301 and
log,, 3 = 0-477. How many digits are there in
(108)1072
(a) 19
(thy 20
{cy 21
dy 22

14. The sum of three prime numbers is 100, If one
of them exceeds ancther by 36, then one of the
numbers is
) 17
tb) 29
{c) 43
{d} None of the above

15. If a, b and ¢ are positive integers such that
. = 16 , then what is the mean of
4+ 1 23

bs 1
1
c+
2
a,bande?
(a) 1
by 2
(c) 1-33
(d) 2-33
DFGT-T-HTM (7 -

Consider the following for the next three (03)

items :

In a certain town of population size 1,00,000

three types of newspapers (I, Il and III) are
available. The percentages of the people in the town
who read these papers are as follows :

16.

17.

18.

A)

Proportion o
Newspaper riaderx !
I 10%
11 30%
I 5%
Both I and 11 8%
Both I1 and I1I 4%
Both I and 111 2%
All the three
(1, 11 and TI1) 1%

What is the number of people who read only
one newspaper ?

{a) 20,000
(b 25,000
{e) 30,000
(d) 35,000

What is the number of people who read at
least two newspapers 7

(a) 12,000
(b) 13,000
(er 14,000
(d) 15,000

What is the number of people who do net read
any of these three newspapers ?

(a) 62,000
(b) 64,000
(¢} 66,000
d) 68,000
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19. 7% van © THE T AF R 2 23.
{a) 1
(by 3
ey 7
dy 9

20. WA AfSU n 3@ SN F UH GAHE 16 R
P+ Uk TR | W IFE F 0 H
e =R ? 24.
(a) Uk
(b) &
(c) @M
(d}y HR

+ + 248

21. x=%€% ,:_Z"‘E .,,:_zﬁam
A TR ?
ta) 1
by V2 25.
(c) J3
2

22, i gEAT x, y 3 2 30 R & R x, 2 F 30%
23Ny, z F40% B | AR x, y B p% B, dp
I e 26.
(a 45
by 55
(c) 65
d) 75

DFGT-T-HTM (8-A)

vF faum v wa wWR & =W o gEeen
gaRl o @ R | U G @0 0 ° faumA
3foqe & 2 | yfn o fa=g P& w1 AFTE W
3 §9F (t + 30) HHUE W fawm & IR Fm
W E | W (L + x) TS W, faum fag p
dih Feahm sz R | x for e 2 2

{a) 750U

(b) 90 AHUE
() 105 §&Ug
(d) 135 I

iT‘{Pﬂﬁpﬁq(%)l},ﬁﬁmﬁﬂﬁ:
s #, & wed # fafafga FaAi w faaw
$ifqu .

p 3N q ZF1 s Tend & 'l € |
p&ﬂ'{qfﬁmﬁ@mﬁg‘m%1

p 3 q ¥ B T AT 3 gEh W A
TRl & |

I0 0 W A FUA HE A2

(a) <hae 13 2

(b) Hast 23R 3

(c) FHael 1307 3

() 1,233

RN

v w8 100 fauefi &, G afwa am
30 kg ® | afe Sefwdi F1 ofma a9 24 kg B
3T AgH ®1 32 kg B, Al wey H wSfREAl A
aea farat B 2

(a) 25
{b) 26
) 27
(d) 28

fr-dl 2 amafes gEnst o 3 b % fou,
J{n-—ﬁ+“(h—alz T-.;FTI

{a) ‘SETE'I'I‘-?E!I

(by =Mt ot I Tl

(¢c) HFTHF %I A2 a=b

(d) UATHE ARz AR FEA AR a>h
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19. What is the unit place digit in the expansion | 23,
of 773 7
(a) 1
(b 3
e 7
(d) 9
20. Suppose n is a positive integer such that
(n? + 48) is a perfect square. What is the
number of suchn ?
24,
(a) One
(b) Two
(c) Three
(d) Four
21. For x = i , what is the value of
V2 +43
X+ 242 L Xt 243 9
x - 242 x-2J3
(a) 1
25.
(b V2
(© 3
dy 2
22. x, y and z are three numbers such that x is
30% of z and y is 40% of z. If x is p% of y, then
hat is the val ?
what is the value of p 28.
(a) 45
(b) 55
(¢} 656
(dy 75
DFGT-T-HTM (9-A)

A plane is going in circles around an airport.
The plane takes 3 minutes to complete one
round. The angle of elevation of the plane from
a point P on the ground at time t seconds is
equal to that at time (t + 30) seconds. At time
(t + x) seconds, the plane flies vertically above
the point P. What is x equal to 7

(a) 75 seconds
(b} 90 seconds
(¢} 105 seconds
(d}) 135 seconds

Consider the following statements in respect
of two integers p and g (both > 1) which are
relatively prime :

1. Both p and q may be prime numbers,

2. Both p and q may be composite
numbers.

3. One of p and q may be prime and the
other composite.

Which of the above statements are correct ?

(a) 1and2only
(b) 2 and 3 only
{(¢) 1and3only
(d) 1,2and3

In a class of 100 students, the average weight
is 30 kg. If the average weight of the girls is
24 kg and that of the boys is 32 kg, then what
is the number of girls in the class ?

(a) 25
(b) 26
(e) 27
(d) 28

For any two real numbers a and b,
J(a -b)? + J(b -a)? is

(a) always zero

(b} never zero

(c) positiveonlyifa=zbhb

(d} positive ifand only ifa>b
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2 2
a” +c¢
27, A a:b=c:d=1:68 @ T, g7 &1 OF

FR?

(a) —
(b)
(e)

(d)

28. 053+053 s am ¢ 2
(a) 1068
1068

(b)

29. omafiE 3N > NP oft Bt , 9w
(a) NI Q0§ B
(b) N,28 78 @& gl qea B
(¢ N,33 9 & wgol Sem §
(d} N, 3 %F S T g qE A

30. fr=fafEa o 9 -4 v smfcm T 2 2
(a) /59049

231
593

(b)

{e) 0-45454545......

(d) 012112211122211112222.......

DFGT-T-HTM (10-A)

31‘

32,

wF P35 F oW el # 1 arem.amm fad | qu
FH & fou & yEs 1 Evgs 0y ok

I ww, Frafafea groft d gofo o § -
Y1 | 9| M I
nf¥ (kmph) 9 8 75
w (Rmeid) | s0 80 100 |
0 ugs & hwa nfa w2
{a) 817 kmph
{(b) 800 kmph

{c) 7-80 kmph
(d) 7-77 kmph

a2 - b . _¢ 3 @ fefifa
b+c c+a a+b

Y FH-0 FY TE 8 ?
(@) TSP 1 - 1FqoaE )

b o Ll

(© % Rm %m—:%mtl

d) YeIw B Fae %%m%i

e 352! @ 8 & R foean e & | v
TR

(a)
(b)
(e)
(d)

L= I . R

TE AN G  IEE F WA WA X B
7H TR % o 31w X & aFd € ?

(a)
(b}
(c)
d)

& o e
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27. If a:b=c:d=1:86, then what is the value of | 31.
ﬁz + E2 ?
b2 +d2
1
(a) ——
%00
1
by —
60
{c) L
36
1
d) —
6
28. Whatis 0-53 + (0-53 equal to ? 39
(a) 1068
(b) 1068
(c) 1068
dy 1068
29. The inequality 3~ > N3 holds when
{a) N is any natural number
{b) N is a natural number greater than 2 as.
(¢} N is anatural number greater than 3
(d) N is a natural number except 3
30. Which one of the following is an irrational
number ?
(a} +b9049 34.
231
by —
593
(c) (-454545456......
(d)  0-12112211122211112222.......
DFGT-T-HTM (11-A)

A race has three parts. The speed and time
required to complete the individual parts for a
runner is displayed on the following chart :

Part]l | Part Il | Part I11
Speed (kmph) 9 8 75
Time (minutes) 50 80 100

What is the average speed of this runner ?

(a) 817 kmph
(b) 800 kmph
(¢} 780 kmph
(d) 777 kmph
ir 2 b £ then which one of

b+e ¢+a a+hb’

the following statements is correct ?

{a) Each fraction is equal to 1 or —1.

(b) Each fraction is equal to ;} orl,
(¢} Each fraction is equal to % or —1.
(d) Each fraction is equal to % only.

The number 352! is divided by 8. What is the
remainder ?

(a) 1
(b 3
€ 7
d) 9

A prime number contains the digit X at unit’s

place. How many such digits of X are
possible ?

(a) 3

by 4

(¢} &

(d) 6
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35, a2 UH & H 6% B & AIE 6% A W

36.

37.

38,

DFGT-T-HTM

=1 wmg, A faskan 1 ¢ 6 aifi e B9 #
T H HE qed F R 7

(a) ¥ 18
(by ¥ 36
ey T 42
(dy ¥ 50

F @d Fl Heg 12 [ deEn 18 wheenad
groo14 T g & [

16 afgemd W wa 6
aFd R 2

26 f&7
by 24f@
(@ 9fm
@ sf&

(a)

qfe 35 = 4¥ = 12* }, d1 2 Tormh sU= & 7
ab  xy
(b} x+y

(ch Xy
X+y

(d  4x+ 3y

A2 (4a + Th) (d¢ - 7d) = (da ~ Th) (4c + Td) B,
A i dasRo s ad 2 2

(a)

cim
e

ola ol

(b)

- E-

| m

(c) =

-.:|.p- o
(=gl B -]
e

(d)

1]

39.

40.

41.

42,

(12-A)

ﬁmm%%ang{x2+ax+h)7ﬁ(x-ll
I (x + D ¥ fowfm +9 w 99es wmm
TR | a3 b uA FAWwE 0

(a 430

(by o033

(0 33Ro

(d 03 FE ff s

et w1 #1 @ * # IR F 6 w2 T §,
afe s 3dt Fd 10 92§ qU war R |
af a A1 e ®@ &, @ 3| FE F Q@
FA 1 faran a9g @m 2

3 e

(by 3915 fime
(c) 3% 30 fiFe
3 °e 45 e

(a)

(d)

wF wlten #, 529 ghwref o7 § %@ gu ok
a2% nfora & % g | Al 179% g1 fawdi § w9
g, @ 3 fawal & fem wfowa vhendi @

B¢ ?

(a) 77
by 58
c) 48
(dy 23
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35. If an article is sold at a gain of 6% instead of a | 39,
loss of 6%, the seller gets ¥ 6 more. What is
the cost price of the article ?
a) <18
by %36
(c) T42
(dy T50
36. A field can be reaped by 12 men or 18 women 40
in 14 days. In how many days can 8 men and |
16 women reap it ?
(a) 26 days
(b) 24 days
{c} Odays
{d) 8days
37. If 3% =4Y = 12% then z is equal to
(a) xy
ib) x+y¥ 41.
(c) Xy
X+y
(dy  4x + 3y
38. If (4a + 7Tb) (d4¢ —~ 7d) = (4a - Tb) {d¢ + 7d), then
which one of the following is correct ?
a e ' 42.
{a) —=-
Y v d
oA _ ¢
by ===
d b
a d
() ==
¢ b ¢
da ¢
(dy —=-
b d
DFGT-T-HTM (13-A)

Given that the polynomial (x% + ax + b} leaves
the same remainder when divided by (x - 1) or
What are
respectively ?

(x + 1), the values of a and b

{a) 4and O
(b) Oand3
{¢) 3and0O
{d} 0 and any integer

Tushar takes 6 hours to complete a piece of
work, while Amar completes the same work in
10 hours. If both of them work together, then
what is the time required to complete the
work ?

(a) 3 hours

(b) 3 hours 15 minutes
(c) 3 hours 30 minutes
{d) 3 hours 45 minutes

What is the value of 2 + J2 + vrz

ta) 1
by 2
c) 3
dy 4

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If
17% failed in both the subjects, then what
percent passed in both the subjects ?

(ay 77
(by 58
{c) 48
dy 23
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43. U =fs md we @ 4 g =, < 3,90,000
# Uiy @i T T8 IEh oh, 9= 3
on wr 3fedl & gta wn o ) 3wy e B
o1 fF oo yrofy wds 3@ ) faed R,
Y% 4 F IH 9 [ y=uin e =l
i foaaft vaofs & = e 2, 99 38 =1
I gt i et afee | oeh @ R
e & 2
{a) ¥ 14,000
(b) ¥ 12,000 47.
(¢) % 10,000
(d) T 9,000

44. 40% ffE wrRafly =9 f 7T wW wh =
gTafy Fa.9-%0 e qof awt § faph 8 =g
& e 2
(ay 3
b 4
(c) 5 48,
d 6

45. TF = A T 17,200 F w730 H @7 wwd 3§
fawfoa #, 38 5%, 6% 3 9% s T
= il @ o FEw R | @ oaul & gmfta
R, 38 ot i feufadt § creae =@
A | 9% = W FEaw i wf gaufy feah
%? 49,
(a) T 3,200
(b} T 4,000
(c) <4800
(d) ¥ 5,000

DFGT-T-HTM (14-A)

g B (s )3
46. (x-y)Y 4+(y-2) +{z —x) ﬁw‘ﬂ%?ﬁﬂ%?

Jlx-y)y-z)(z-—x)

a) 1
{by 0
(c) l

3
d) 3

aﬁax=b)'=c13ﬂ'{h2=aci‘5hl+l
X F4
foress w2 2

{a) l

w -1
Y

{c) E
Yy

@ -2
Yy

afE p 3 q, TfE x2 - 15x + r = 0 % A &
Mp-q=1R, A rF A TR ?

(a) Bb
(by 56
(e} 60
(d) 64

mxﬂ—?x+12>ﬂ%ﬁ-’ﬂ,ﬁﬁﬁlﬁaﬂﬁ

q B 0F TR R 7
(a) 3<x<4

(b) FdA -~ <x<3
(c) HaTA4<x<oo

(d) —o<cx<c3AYGI 4 < x <o
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43. A man who recently died left a sum of

44. What is the least number of complete years
in which a sum of money put out at 40%
annual compound interest will be more than
trebled ?
(a) 3
th) 4
) 5 48.
(d 6

45. A person divided a sum of T 17,200 into three
parts and invested at 5%, 6% and 9% per
annum simple interest. At the end of two
years, he got the same interest on each part of
money. What is the money invested at 9% ? 49.
{fa) ¥ 3,200
by T 4,000
{c) T 4,800
d) 5,000

DFGT-T-HTM {15-A)

T 3,90,000 to be divided among his wife, five
sons and four daughters. He directed that
each son should receive 3 times as much as
each daughter receives and that
daughter should receive twice as much as

each

their mother receives. What was the wife's

share ?

(r) ¥ 14,000
(b) 2 12,000
() ¥ 10,000
(d) ¥9,000

47.

(x—y)a +{y—z]3+(z—x)3

What is 3 x-Ny-DE—x equal
to?

(a) 1

by 0

(c) %

dy 3

If a* = b¥ = ¢® and b? = ac, then what is

1 + 1 equal to ?

X z
{a) 1
y
b -1
y
(c) E
y
W -2
y

If p and q are the roots of the equation
x2-15x +r=0and p - q = 1, then what is the
value of r ?

(a) 85
(b) 56
(€) 60
d) 64

For the inequation x? - 7x + 12 > 0, which one
of the following is correct ?

(a)
(b)

3<x<4
—oo <X <3 only
(c) 4<x<oopnly

(d)

—co<cX<3 Or 4<x<oo
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50.

51.

52.

53.

= 527 290 &1 TGS 2

(a) 3

{by 7

{c) 17

(d) Iugw § | w1 Ad

qﬁmnx:],ﬂcxcgﬂ“?_,?ﬁ2sinxcosx3ﬂ
o+ =41 8 7

1
(a) —
a3
by 1
J3
) =
‘C 2
dy 3

sin 46° cos 44° + cos 46° sin 44° T UH FT R ?

{a) sin2°
by 0
e 1
idy 2

AR &if9T 0 < 0 < 90° B, 9 9% 0 & forg,
4 5in 0 + 1 FoFe@ =21 1o WA B 2

(a) 2

(b) 4sind

(¢) 4c¢os®

(d) 4tan8
DFGT-T-HTM

54.

55.

(16-A)

UF THESYA ABCDEF W fa=m $ifow | B ain
CRAZR @& | A @, B W @z &
ofid &1 IFIR FW 30° B, R ¢ W frud TEw
Mg+ IqgT FT 45° 2 | B R C W fEm
T F Tt w1 HeE =R 7

(a) 1: 3
(b 1:3
(c) 1:2
d 1:243

tan 1° tan 2° tan 3° ...... tan 89° 551 91 91 & ?

ta) 0
(b} 1
cy 2
(d}) o

g auim nferal &, s el IW A gfam A
AR fa 2 ) vRel T H e @ I A R
RN FAT U 4w @l et # s areen & @)
IaF il Ar & ) fe se w A =RA ein
150° qge 8 3 15 foe @& 20 km/hr 1 7
H I § | 3T A2 A€ 60° A AW HaT B
afit 20 fre a% 30 kvhr i T & SR gEA
et & age wmen @ | Al nfedl $ @9 A1 gl
fererh & 2

(a) T-Hkm

(b) 10-5 km
(¢} 12:5km
(d) 15km
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50. The expression 52" — 23" has a factor 54.
(a) 3
by 7
(c) 17
{d) None of the above
61. If tanx =1, 0 < x < 90° then what is the
value of 2 sin x cos x 7
(a) l
2
by 1
55.
J3
{c) —_—
2
d V3
52. What is the value of
sin 46° cos 44° + cos 46° sin 44° ?
(a) sin 2° 56.
by 0
ey 1
dy 2
53. Suppose 0 < 6 < 90° then for every 6,
4sin?0 +1 is greater than or equal to
fay 2
by 4s8in0
{c) 4dcosh
{d) 4tan©
DFGT-T-HTM (17 -A)

Consider a regular hexagon ABCDEF. Two
towers are situated at B and C. The angle of
elevation from A to the top of the tower at B is
30°, and the angle of elevation to the top of the
tower at C is 45°. What is the ratio of the
height of towers at B and C ?

(@) 1:43
(b) 1:3
{c) 1:2
(d 1:2J3

What is the value of

tan 1° tan 2° tan 3° .......... tan 89° ?
{(a) 0O
b 1
¢c) 2
(d) oo

There are two parallel streets each directed
North to South. A person in the first street
travelling from South to North wishes to take
the second street which is on his right side. At
some place, he makes a 150° turn to the right
and he travels for 15 minutes at the speed of
20 km/hr. After that he takes a left turn of 60°
and travels for 20 minutes at the speed of
30 km/hr in order to meet the second street.
What is the distance between the two streets ?

{a) 75km
(b} 10-5 km
¢y 12-5km
td) 15 km
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57. ﬂ'ﬁBLanii:mtBGﬁl}Eﬁsg%.Eﬁﬂmm 61. Frafafgn affga amEma @7 @ faEr

EﬁTﬁTE{:
TR
X f
@) = 0-10 8
6 ——
b T 10 - 20 12
4 20 — 30 10
@ = 30 - 40
3 30 - p
a E 40 - 50 9
5 R B
a2 3udw ga F1 "Wy 252 B, 91 p & AE T
58. sinZ 25° + sin? 65° &1 WA =1 & 7 L
@ 0 (a 9
(1 (b} 10
(c) 2
) 4 (c) 11
@ 12

59. sin®0 + cos® 0 + 3 sin 0 cosZ 0 — 1 1 HH &1

& 62, Freaforfign s sz ¢ fram i
(a) 0
by 1 X f
(cy 2 8 6
(dy 4 S5 4
6 5
60. Trdfas s a, i, ¥y s & f?TU,, 10 g
mﬂﬁaﬂﬁﬁl": 5 .
1. seca = 1/4 p "
2. tan f§ = 20 7 .
3. cosecy = 1/2
4, cosd=2 5 923 ) e 7R 2
g 8 & foen foreeor s 7T € 2 (a) 6
@ & b 7
::: 2_4 fey 8
(d) =R dr 9
DFGT-T-HTM (18-A)
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57. If 3tan 0 =cot® where 0<0< % then what
is the value of 0 ?
=
{a) —
6
wm I
4
© I
3
@ =
2
58. What is the value of sin? 25° + sin? 65° 7
(a) O
by 1
c) 2
d) 4
58. What is the value of
sin® 8 +cos%0 + 3sin® 0 cos?0-17
(ay O
(b) 1
© 2
d) 4
80. Consider the following for real numbers a, B, v
and & :
1. sec o = 1,/4
2. tan f =20
3. cosec y = 1/2
4, cos d=2
How many of the ‘above statements are
not possible ?
(a}) One
(b} Two
(¢} Three
{d» Four
DFGT-T-HTM

61.

62.

(19-A)

Consider the following grouped frequency
distribution :

X f
0-10 8
10-20 12
20-30 10
36 - 40 P
40 - 50

If the mean of the above data is 25'2, then
what is the value of p ?

{a) 9

{(b) 10
) 11
d) 12

Consider the following frequency distribution :

x f
8 6
5 4
6 5
10 8
9 9

6
7 4

What is the median for the distribution ?

(a} B
by 7
e} 8
d) 9
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50 FHITR v quitsl &1 alma x ¥ ) R e

gt a5 s e = fer <, A 7
sftga (wrea) 41 B 7
{a) x+1
b x+2
{c) x+4
(d)  x +(x/56d)

84. 2 IHi awil U wemei w Ew At @
I Fh H TUH Fgd oF W R, 3 & A
wd ¥ ) 3w TER A @ I A EEe W
sfrgaFn 2
(a) 33
(b) 44
(c) a5
d) 66

65. =A@ % v fregw § fafafge o & s
wftafem o & 2
1. WY ANE (IR TEAH)

2. ganRw (Jd-3gAm)

3. o amw (Reemm)

419 fw T Fe w1 w@m = ad I g
(a) <had 1 3R 2

(b) hae 23 3

(¢) had 133

d) 1,233

g6, frafafem 4 8 =R w fafu 3 wfm fF
Mo Hiwg, wafie sfws 737 Ea & 2
(a) Wegw SRETE AERR gR
(b) YUY T WA gl
(¢) TUFTHRI & wWeAm @ el gfe ga
(d) eIy Wu.gEY |

DFGT-T-HTM

67.

'88!

(20-A)

s =fer # Wit =47 7 6,000 2 | fafis w

T =99 &1 v Fremem d
=7 # 7F awr (T )
1. @ 2,000
2. 660
3. 3u= ain femm 1,200
4, fomn 480
5. fafaw 1,660

afe 3w et H 15 em FEE F TF
yfavaa W sE § fAEfe ffm sw, @
fien s fafaw @ wefum w@w Mm@ % 2
el i sl Haw: = g 2

(a) 1:25 ¢m \"Jﬂiﬁcm

(b) 12em HNW 415 cm

(¢ 1-2 em 31T 3:5cm

(d) 4-15cm 3 6 cm

afe n Yo § @ m Y0 w1 159 B 3RS
Yaol} &1 areg m B, @ ot o Yo w1 ETen =
22

(a) 2m- B
n
2
() 2m+ —
n
2
() m-2
n
2
{d) m+ —

https://www.pyqonline.com



63. The average of 50 consecutive natural |67.
numbers is x. What will be the new average
when the next four natural numbers are also
included ?

(a) x+1
(by x+2
(c) x+4
(d)  x+(x/54)

64. Consider two-digit numbers which remain the
same when the digits interchange their
positions. What is the average of such
two-digit numbers ?

{a) 33
{hy 44
ey &b
(d) 66

65. Diagrammatic representation of data includes

which of the following ?

I Bar diagram

2, Pie-diagram

3. Pictogram

Select the correct answer using the code given 68
below : *
(a) 1and 2 only

(b 2and 3 only

(c) 1land3only

dl 1,2and3

66. The data collected from which one of the

following methods is nof a primary data ?
(a) By direct personal interviews
(b) By indirect personal interviews
(c) By schedules sent through enumerators
(d) From published thesis
DFGT-T-HTM {21-A)

The monthly expenditure of a person is
¥ 6,000. The distribution of expenditure on
various items is as follows :

Item of expenditure Amount (in &)

1. Food 2,000
2., Clothing 660
3. Fuel and rent 1,200
4. Education 480
5. Miscellaneous . 1,660

If the above data is represented by a
percentage bar diagram of height 15 em, then
what are the lengths of the two segments of
the bar diagram corresponding to education

and miscellaneous respectively ?

{a}) 1-256emand 5 em

(by 1-2cmand4-15em

tc} 1-2cem and 3-5 em

(d) 4-15¢m and 6 em

If the mean of m observations out of

n observations is n and the mean of remaining
observations is m, then what is the mean of all
n observations ?

2
(a) 2m-—-m—
n
2
(h) 2m+m—
n
2
© m-2
n
2
d) m+ —
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go. frafafiga & @ #h-w & g @@t w9 A
gafea 2 2
(a) TIfETH - e feafa
(b) WA - e feafa
(c) TEIR AT -  WEE
(d) FEAR -

70. frofafgs g0 o sw@a =M & IRERE T
W IuF aREwar WEyE @ wafum €
frafafes 4 @ #°9 & W w6 &9 &
TRfera 727 8 2
(a) FYA A AUR W@ - X-AY
(b) FPEF AW A - T IRERAn

Hifeai
(c) &Y & Wl FYs - FERA qeA &
1 3% (¥
TR )
(d) WS F ATEA - G B FA
TRATEI

71. U AEa o, oard o ded A dm R
fy smam i oA o <ter e 30% IR
10% ®@1 4 9rd, & suwr oforg feen =@
Jma ?

(a) ‘;—0%
(b) 20%
() 25%
) 27%
DFGT-T-HTM

73.

74.

75.

(22-A)

A, A #aes § e gfwm
Tt 2

(a) T75%

(b)  50%

(c) 25%

(d) Hr$ aftada T

(b)  400%
(c) 450%
(d) 500%

2 10 em Bow A& gH H A AHERR
EﬁﬂTaﬁiﬁHﬂTﬁfu em AN 16 cm B, @ H
AdmA F IR R gH e 2 2

(a) 1lecm AYHT 7 cm
(b) 2cm IAIAT 14 em
{c) 3cm Y 21 cm
{(d) 4 cm 94T 28 cm

‘2’ Y 9 OF G % 2 wepE Wil A
A, |99 g1 & I W YHR WL
m § fF 3 Q) ot = SR & A
FFR T € | T 2T Aaell 1 GEAS ATRA
fraa 2 2

1

(a a(n+ =)
2

’ 1

b alr-=)
a“(n 5

© a2(X_-1
[ a 2

@ a2t +D
a(2+
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69. Which one of the following pairs is correctly |72,
matched ?
(a} Median — Graphical location
(b} Mean - Graphical lecation
{(e) Geometric mean — Ogive
(d) Mode -  Ogive
73.
70. The following pairs relate to frequency
distribution of a discrete variable and its
frequency polygon. Which one of the following
pairs is not correctly matched ?
{a) Base line ofthe - X-axis
polygon
74.
{b)  Ordinates of the — C(lass frequencies
vertices of the
polygon
(c)  Abscissa of the - Class marks of the
vertices of the frequency
polygon distribution
(d)  Area of the —~ Total frequency
polygon of the distribution
75.
71. In a rectangle, length is three times its
breadth. If the length and the breadth of the
rectangle are increased by 30% and 10%
respectively, then its perimeter increases by
40
{a) — %
3
hy 20%
(c) 25%
(d)  27%
DFGT-T-HTM (23-A)

What is the percentage decrease in the arca of
a triangle if its each side is halved ?

ta) T5%
thy  50%
{c) 25%
td) Nochange

The volume of a spherical balloon is increased
by 700%. What is the percentage increase in

its surface area ?

)y 300%
(b}  400%
{c)  450%
dr  500%

If the lengths of two parallel chords in a circle
of radius 10 em are 12 cm and 16 cm, then
what is the distance between
chords ?

{a)

(h)

these two

lemor 7 cm
2emor 14 em

{c) Jemor 21 em
id) 4dcmor28cm

Considering two opposite vertices of a square
of side "a" as centres, two circular arcs are
drawn within the square joining the other two
vertices, thus forming two sectors. What is the
common area in these two sectors ?

(a) a2(r:+11
2
b d"f.‘!—l]
2
i T
e a*t= —1)
2
td) azt;j+1|
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76.

7.

78.

79.

DFGT-T-HTM

‘2’ YA AR TF A F FA H I THET FR
T 2 f% uh Em Ry T } | ITRyW B
T o & wEs fea R 2

a(v2-1)

a(J3-1)

{a)

{b)

w @ frg A 5w g
ﬁﬁﬁQﬁﬁddcmgaﬂT
orR gu $ wify i g 2
9 F1 89 fRa 2 2
(a) 154 cm?

tb) 308 cm?

{c) 462cm?

(d) 616 cm?

T 6 ft x 12 ft ITHN & NIATHR A6l FIeh d
6 39 I TR e 1 i dim @ R | e I
w1 6 dimn 9f 1 Sawe foeaar 2 2

@ 9T e A

(b) 159 e
© 179t
) 18 a H

80. & @ Bnpa w1 gfmw 3 waw o1y

82,

(24-A)

ok TR AR o= e W F ay
HAT 4: 5%, @ ko WH R 2

(a) 2
(by 3
e 4
(d) 5

TH 12 m @4 a0 & 2 7S for o &, gl @
T F TH g9 & ¥4 ° 6 e @ i g@ A
oF T % ¥ A, g9 H TEg FW g WG
A g (ga A e e R 2

12

(a)

(h)

(c)

(d)

n+ 242

R FEFML: 1 4% sqem A § 3R
@ & ofore 3udht g & g & kT
R AkF AR IR ?

2
{a) 1+ —

J3

2
by 1- =

J3

2
ic) 2+ —

J3
d) 2
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76.

1.

78.

79.

DFGT-T-HTM

The corners of a square of side ‘a’ are cut away
50 as to form a regular octagon. What is the
side of the octagon ?

at\.@—l}
aiJ3-1)

&€

JE+2

(a)

(b}

(c)

|

(d)

Three consecutive integers form the lengths of
a right-angled triangle. How many sets of such
three consecutive integers isfare possible ?

(a)
(b)
(c)
(dy

Only one
Only two
Only three

Infinitely many

Two circles are drawn with the same centre.
The circumference of the smaller circle is
44 ¢m and that of the bigger circle is double
the smaller one. What is the area between
these two circles 7

(a)
(b)
(c)
(d)

154 square cm
308 square cm
462 square cm

616 square ¢cm

A rectangular red carpet of size 6 ft x 12 ft has
a dark red border 6 inches wide. What is the
area of the dark red border ?

(a)
(b)

9 square feet

15 square feet
(ci
(d)

17 square feet

18 square feet

80.

B1.

82,

(25-A)

The perimeter of a right-angled triangle is
k times the shortest side. If the ratio of the
other side to hypotenuse is 4 : 5, then what is
the value of k ?

(a) 2
by 3
fc) 4
(dy 5

A 12 m long wire is cut into two pieces, one of
which is bent into a circle and the other into a
square enclosing the circle. What is the radius
of the circle ?

(a) 12
n+4
S
T+ 4
(c) 3
a+4
6
(d) —_—
T+ 2\@

The angles of a triangle are in the ratio
1:1: 4 If the perimeter of the triangle is
k times its largest side, then what is the value
of k ?

(a) 1+ —-2-
3
2
(b) 1 - —
J3
2
{c) 24 —
J3

d) 2
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DFGT-T-HTM

83. UF @EH e &1 # 10em ¥ 3k I

A5 24 em? ¥ | IR IEH BA Yo w amn
ait @t o N gE W fem wm R, @ w@
i fran R I R 2

V245 cm
V255 cm
%cm
ﬁ7_5cm

(a)
(b}
(c)

(d)

Scmﬁwma“qﬂﬁ.ﬁﬂmAcam
7\ YR & f6 AB = AC = 12 em % 1 SffaT BC
&) oard feaht & 2

(a) 26 em
3J6 em
3J7 em

647 cm

(b}
{c}

)

frafafga syt @ faar Hifaa
1. T TuigER w6es we wha g

2. 1§ W kg g e e IR g
2

39w § & Fgrd v ad i 2
FaE 1

Fad 2

1 3 2 3

(@ TA1T2

{al

(b)

(c)

86.

87,

88.

(26-A)

T dil % Fam fan F wEr @ g ¥
MwmFan fan @ 25 m TR ) R T7
AR @ 08 m A A IR g AW B, @
TEHT A6 AR Y 1.4 m 3N s A I
? ) €t ) oxard frerft R 2

(a) 62m

(b 656m

(c) 68Bm

d) 75m

2 WUF §9 THGE H T TER aeeg ¥
fo 3 & vl% 99 QR 39 F Fp A TN
e § 1 Ay At gl Y wdAfms fan @
aar 1043 cm B, @ g7 1 =m e R 2

{a) 10ecm

tb) 15cm

(c) 20cm

(d) 30cm

frfaflaa sui w fa=m Hifsw

1. @ il figel @ e @R W

A A gl I w3 R

2, et g0 & oy @ve (Fmie) A @3 TN
FI0 =T B T R |

I § A PR T Td AR 2

(a) Had 1

(b) a2

13 231

(d Ad@ 1,382

(c)

https://www.pyqonline.com



83. The hypotenuse of a right-angled triangle is |86,
10 cm and its area is 24 cm®. If the shorter
side is halved and the longer side is doubled,
the new hypotenuse becomes
{a) V245 ecm
(b 255 em
(© V265 cm
(d) 275 em

B7.

B84. In a circle of radius 8 cm, AB and AC are two
chords such that AB = AC = 12 cm. What is
the length of chord BC ?

(a) 2V6 em

(b)  3J6 cm

(¢) 347 em

(d) 847 em

8B,

85. Consider the following statements :

1. An isosceles trapezium is always eyclic.

2. Any cyclic parallelogram is a rectangle.

Which of the above statements is/are correct ?

{a) 1only

(b} Z2only

(¢} Bothland?2

{d} Neither 1 nor 2
DFGT-T-HTM (27-A)

A ladder is resting against a vertical wall and
its bottom is 25 m away from the wall. If it
slips 0-8 m down the wall, then its bottom will
move away from the wall by 1-4 m. What is
the length of the ladder ?

{a) 62m
(b) 65m
) 68m
(d}  7-5m

Two equal circles intersect such that each
passes through the centre of the other. If the

length of the common chord of the circles is
103 em, then what is the diameter of the

circle ?

(a) 10cm
{by iScm
(e) 20em
{d} 30c¢cm

Consider the following statements :

1. The number of circles that can be drawn
through three non-collinear points is
infinity. https://www.pygonline.com

2.  Angle formed in minor segment of a

circle is acute,

Which of the above statements isfare correct ?

{a) 1only

(b) 2only

(¢} Both1land2
(d} Neither 1 nor 2
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89.

90.

DFGT-T-HTM

feft B ABC * wed #, Prwfafaa
argfiremeil @ faar Hifaw

1. AC-AB<BC
2. BC-AC<AB

3. AB-BC<AC

394w # A wA-E adt # 2
(a) Haa 1 32
(b) haw 2 33
(¢) “had 133

) 1,233

ffafiga vt w e Hifsu .

1. fah B i ofem 3edht fR mferma
(difem) F ameer @ o wh ;)

2. f&ft fingw ABC #, 3R BC wm #¥E fag D
2, AAB+BC+CA>2ADEA R |

g § § FH-TA T4 T 2/E ?
*ad 1
*ad 2

{a)
{b)
(¢ 1323

(d) TdAl1,9% 2

AT 3T F1A #A (03) vl % fore PrafaRm w
ﬁ?ﬂ?ﬁ'ﬁ“{:

o g freft M & siafa R | 9 % It

wa-geiia 3@ § S 39S Wff Featm bl H
AR | VA F AN TF d=-g9A T B ) IR
Fargal s € o ¥ F AW IS F AW &
TR R |

91.

92,

23.

(28-A)

M & A F UF & I @ FN AU
22

(a) 643 :1
(b) 7:2

(© 343 :1
) 5v3:1

O % A $ IR A™Ad ¥ w1 I
22
(a)
(b)

4:3
21:16
{c) 14:11

(dy 45:32

1. MR w g dawd, TF H 9% 7N
BI% &1 5 TR |

2. ¥4 # JHE AR, qdoH F AH &I
AR & quat R |

I § A BRI T T 2 7
(a) HaAA 1

(b) FaA 2

(© 13 22mi

@ FAM1LIA2
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89. Consider the following inequalities in respect
of any triangle ABC :
1. AC-AB<BC
2. BC-AC < AB
3. AB-BC<AC
Which of the above are correct ? a1
{a) 1and2only
(b) 2and 3 only
{¢) 1and 3 only
(d 1,2and3
92.
90. Consider the following statements :
1. The perimeter of a triangle is greater
than the sum of its three medians, 93.
2. In any triangle ABC, if D is any point on
BC, then AB + BC + CA > 2AD,
Which of the above statements is/are correct ?
{a) 1lonly
(b)  2only
(e} Bothland?2
(d} Neither 1 nor 2
DFGT-T-HTM (29-A)

Consider the following for the next three (03)
items:

A cube is inscribed in a sphere. A right

circular cylinder is within the cube touching all the

vertical faces. A right circular cone is inside the
cylinder. Their heights are same and the diameter of
the cone is equal to that of the cylinder.

What is the ratio of the volume of the sphere
to that of the cone ?

(a) 643 :1
b 7:2

© 3J3:1
@ 543 :1

What is the ratio of the volume of the cube to
that of the cylinder ?

{a) 4:3

by 21:18
e 14:11
(d) 45:32

Consider the following statements :

1. The surface area of the sphere is
v5 times the curved surface area of the

cone,

2, The surface area of the cube is equal to
the curved surface area of the cylinder.

Which of the above statements is/are correct ?

{(a} 1lonly

(b) 2only

(¢} Bothland?2
(d) Neither 1 nor 2
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21T 3T =TA A7 (03) T & fore Prefafaa w
ﬁwﬁﬁq:

ABCD & =gd@ & fymd AB = 9 om,
BC = 40 cm, CD = 28 em, DA = 15 cm 3 FW ABC
oS THH R |

94. TN ADC F1 89%A FRaT 2 2
(a) 126 cm?
(b) 124 cm?
(©) 122 cm?
(d) 120 cm?
95. =@d ABCD %1 &we fra # 2
(a) 300 em?
(b) 306 cm?
(c) 312 cm?
(d) 316 cm?®
96. fgs ABC % uftarw 3l finfw ADC & wfoma &
= foram s } 2
(a) 4cm
(b) &Scm
(e 6Gem
(d Tem

ST a3 A& D (02) wvivT & e Pafafm w
foram e

& @wEr 9 ABC, 20 /3 em # fn S
TF ga F Hata R |

97. @ fiym R Tad T2
{a) 30cm
{b) d40cm
e} H0cm
(d) 60cm
DFGT-T-HTM (30

98. fn[@ ABC #1 F5, M A @ da g md

d fraes s R 2
(a) 15 cm

{b) 20cm

© 2043 cm
(d) 3043 em

T I JTE 3 (02) Sy % fere Prafafem w
feram Fifem

UF AGHIOE G S I o, e
st Fum€ +1 dee 22 om R 2 IoF faet A
@ 14em ® |

99, wEHIIG TR WhHAS F qLEE IS

fram 2 2
(a) 288 cm?
(b) 216 em?

144 ¢m?

st za & wrwr faaifa T fsn @
Tl

(c)

(d)

100. 3f2 wEfE @HIR wCHOE H A
() % o1 (@) +1 e S, 3 IEH
e v R, @ (S - 3v) forads suer & 7

(a) 672 em?

(b 728 cm?

{¢) 1144 em?®

(d) Iug H B HE TE
- A }
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Consider the following for the next three (03)
items ;

ABCD is a quadrilateral with AB=9 cm,
BC = 40 em, CD = 28 cm, DA = 15 cm and angle
ABC is a right-angle.

94. What is the area of triangle ADC ?
(a) 126 cm?
(b) 124 cm?
(¢} 122em?
(d) 120 em?
85. What is the area of quadrilateral ABCD ?
(a} 300 em?
(b} 306 cm?
(¢} 312cm?
(d) 316 cm?
88. What is the difference between perimeter of
triangle ABC and perimeter of triangle ADC ?
(a} 4cm
(k) bcm
{c) 6em
(d) 7em

Consider the following for the next two (02)

88. The centroid of the triangle ABC is at a

distance d from the vertex A. What is d equal
to ?

{a)
(b

15 cm

20 em

(¢) 2043 cm

(d) 30V3 cm

Consider the following for the next two (02)
items :

The sum of length, breadth and height of a
cuboid is 22 em and the length of its diagonal is
14 ¢m,

99. What is the surface area of the cuboid ?

(a) 288 ¢m*?
(b) 216 cm?
(c) 144 cm?
{(d} Cannot be determined due to

insufficient data

it 100, If S is the sum of the cubes of the dimensions
items :
of the cuboid and V is its volume, then what is
An equilateral triangle ABC is inscribed in a (S - 3V) equal to ?
circle of radius 20 V3 cm.
(a) 572 cm?
97. What is the length of the side of the triangle ?
(a}  30cm (b) 728 em’
(b) 40 cm (¢ 1144 em?®
(¢} 50em
d)  60cm (d) None of the above
DFGT-T-HTM (31-A)
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